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PLEASE DO NOT OPEN THIS TEST UNTIL DIRECTED TO DO SO

Test Directions

1. Complete the information requested on the answer sheet.

PRINT YOUR NAME on the “Name” line.

PRINT the name of the event, BUSINESS MATH on the “Subject” line.

PRINT the name of your CHAPTER on the “DATE” line.

2. All answers will be recorded on the answer sheet.

Please do not write on the test booklet.

Scrap paper will be provided.

3. Read each question completely before answering.  With a NO. 2 pencil, blacken in your choices completely on the answer sheet.  Do not make any other marks on the answer sheet, or the scoring machine will reject it.

4. You will be given 60 minutes for the test.  You will be given a starting signal and a signal after 50 minutes have elapsed.

5. Tie will be broken using the last 10 questions of the test.

1. Nadia Campana earns a regular hourly rate of $23.60.  She earns double time for work on Sundays.  She worked her regular 36 hours plus 7 ½ hours on Sunday.  What is her total pay for the week?
A. $873.20

B. $1,026.60

C. $1,203.60

D. $1,557.60

2. Jamal Parker works at a company that uses military time to keep track of employees’ work hours.  Thus, 1:00 p.m. is shown as 13:00, 2:00 p.m. as 14:00, etc.  On Monday, October 1, Parker worked from 8:02 to 11:47 and from 13:08 to 17:06.  How many hours and minutes did he work on Monday?

A. 7 hours 41 minutes

B. 7 hours 43 minutes

C. 7 hours 45 minutes

D. 7 hours 53 minutes

3. Gabriella Santos is a Little League umpire.  She is paid $20 per game on weekdays and $25 per games on weekends.  She umpired 14 weekday games and 3 weekend games.  What is her total pay?

A. $335

B. $340

C. $355

D. $425

4. Ryan O’Malley is paid either a commission or by the hour, whichever is greater.  His hourly pay is $8.00 per hour with time and a half for all hours that exceed 40 hours per week.  His commission is 7 percent of his sales.  Find his gross pay in a week in which he worked 48 hours.  His total sales for the week were $6,120.

A. $416.00

B. $428.40
C. $576.00

D. $748.40

5. Pamela Miller sells musical instruments.  She earns 6 ½ percent commission on the first $2,000, 8 percent on the next $3,000, and 10 percent on sales over $5,000.  How much did Pamela earn if her sales for the week were $7,368?

A. $478.92

B. $589.44

C. $606.80

D. $736.80

6. Carole Vanderlan is a veterinary assistant.  Her employer pays 75 percent of her medical insurance and 40 percent of her dental insurance.  Medical insurance costs $3,900 per year and dental insurance costs $750 per year.  How much is deducted weekly for medical insurance and dental insurance?

A. $26.83

B. $27.40
C. $62.02
D. $89.42

7. According to Jim Dunn’s pay stub his net pay was $426.15.  Deductions listed were FIT--$67.00, FICA--$36.89, Medicare--$8.63, State Tax--$11.90, Local Tax--$8.93, Medical--$15.50, Union Dues--$14.00, Other--$6.00.  What was Jim’s Gross Pay?
A. $168.85

B. $257.30

C. $426.15

D. $595.00

8. The Callahan family had the following transportation costs, including train fare, car payments, gasoline, oil changes, and repairs for the months of July through December:  $947, $895, $923, $851, $816, and $908.  What is their average monthly expenditure for transportation costs?

A. $445

B. $890

C. $980

D. $5340

9. Last week Tonya Cook worked 4 overtime hours at time-and-a-half pay.  Her regular pay rate is $8.70 per hour.  What was her overtime pay for the week?
A. $13.05

B. $52.20

C. $52.50

D. $69.60

10. Last year Jose Anderson’s tax gross income was $24,685.  She had adjustments to income of $3,640.  What was Jose’s adjusted gross income last year?

A. $21,045

B. $22,185

C. $25,825

D. $28,325

11. Carol Arielle is paid piece-rate for each of 268 items she produces in a week and she receives gross wages of $469.  What is Carol’s per piece rate?

A. $1.50

B. $1.70

C. $1.74

D. $1.75

12. Gary Kingston has taxable income of $34,672.  He pays a city income tax of 1.5% on taxable income.  What is Gary’s city tax?

A. $346.72

B. $490.83

C. $520.08

D. $5,200.80

13. Maureen Richer is paid $275 a week and a commission of 7% on all sales.  Her sales last week were $3,904.  What were her total earnings for the week?

A. $273.28

B. $548.28

C. $558.28

D. $2,732.80

14. John Morrison’s annual salary is $30,605.  What is John’s social security tax if the rate is 6.2%?

A. $1,897.51

B. $1,989.32

C. $4,340.00

D. $18,975.10 

15. Joseph Mays works 8 hours a day Monday through Friday.  What is his gross pay for one week if he earns $9.84 per hour?

A. $314.88

B. $344.40

C. $383.60

D. $393.60

16. Morgan Burns is paid $11.20 an hour for a 40-hour week.  Her estimated benefits are 33% of her wages.  What is the value of her total yearly job benefits?

A. $165.76

B. $1,989.12

C. $7,687.68

D. $7,956.48

17. Dean Stroble is married and claims 2 withholding allowances.  His gross weekly wage is $448.  His withholding is $17 and FICA is $34.27.  What is his net pay? 

A. $396.73
B. $431.00

C. $389.22

D. $499.27

18. Kim Lu is paid an annual salary of $28,680.  She is paid every other week.  What is her gross pay for each pay period?

A. $1,103.08

B. $1,195.00

C. $1,434.00

D. $2,390.00

19. Lu Yung expects to earn $64,700 next year.  Last year he saved 12% of his income.  If he saves the same percent this year, how much will Lu save?
A. $6,470

B. $7,764

C. $7,864

D. $7,964

20. Olga Kirosky deposited these items in a bank:  (bills) 12 twenties, (coins) 11 quarters, 16 dimes; (checks) $125.99, $41.65.  She received 100 one-dollar bills in cash back.  What was the net amount of her deposit?

A. $311.99

B. $319.99

C. $411.99

D. $419.99

21. You discount a 6-month, non-interest-bearing note for $3,000 at a bank at 14%.  What true rate of interest, to the nearest tenth percent do you pay?

A. 7%

B. 7.5%

C. 14%

D. 15.1%
22. The bank statement sent to Abigail Otts did not show checks for $158.23, $12.89, and $71.27, and an outstanding deposit of $75 that were listed in the check register.  The balance printed on the statement was $289.07.  What is the reconciled bank statement balance?

A. $121.68

B. $167.39

C. $192.95

D. $456.46

23. A lawnmower sells for $489.  The sales tax is 5.1%.  What is the total cost of the mower?
A. $513.94

B. $513.45

C. $489.00

D. $24.94

24. You bought 6 pairs of socks @ $4.25 and 3 shirts at $18.95.  The sales tax is 3%.  What was the total amount of the purchase?

A. $83.35

B. $23.90

C. $84.82

D. $45.78

E. $79.88

25. The regular price of a quart of motor oil is $1.84.  You can buy a 12-quart case of motor oil for $16.99.  How much will you save by buying oil by the case?

A. $11.08

B. $22.08

C. $5.09

D. $5.15

26. A document you want to download from the internet is 64.8 KB in size.  The true speed of the Internet connection is 38 kbps, how many seconds will it take to download the file to the nearest tenth second?

A. 13.6

B. 17.1

C. 17.5

D. 3.3

27. You are thinking of buying a home for $104,300 and making an 18% down payment.  You estimate closing costs will be 2.5% of the homes purchase price.  How much cash will you need to buy the home?

A. $16,166.50

B. $18,774.00
C. $21,381.50

D. $20,800.00
28. A home worth $105,000 is insured for $85,000 under a 90% coinsurance policy.  How much of a $28,000 loss would an insurance company pay?

A. $28,000.00
B. $26,444.44

C. $25,200.00
D. $25,185.18

29. Vicky Zielinski bought a truck on these terms:  purchase price, $18,230; down payment, $2,500; rebate, $1,200; sales tax, 5%; registration fees, $117.  What was the balance due to the nearest dollar?

A. $20,579

B. $15,559

C. $13,745

D. $17,805

30. Charles Coldwell bought a used car for $7,195.  He made an $800 down payment and paid the balance in 24 payments of $318.47 a month.  What was the finance charge on the loan?
A. $448.28

B. $1,258.32

C. $1,248.28

D. $1,428.28

31. A car bought new for $27,118 is sold for $950 after 14 years of use.  What is the average annual depreciation?

A. $1,869.14

B. $1,937

C. $2,854.52

D. $1,689.14

32. The monthly health insurance premium provided by Lawanda’s employer is $448, and Lawanda pays 20% of the cost.  What annual amount does she pay for health insurance?
A. $1,075.20

B. $4,300.80

C. $89.60
D. $1,057.20

33. Crest County 8%, $1,000 par value bonds sell at 95.314.  What is the price of 5 bonds?

A. $7,625.12

B. $953.14

C. $5,000.00
D. $4,765.70

34. Dean Grigsby was injured on his job.  He is insured by a disability policy that pays 35% of his average annual salary of $36,800.  What amount does Dean collect monthly?

A. $12,880.00
B. $1,993.33

C. $1,073.33

D. $2,142.83

35. The semiannual interest on a $500 par value bond is $20.  If the bond now sells at 98, what is its current yield, to the nearest tenth percent?

A. 8%

B. 8.2%

C. 4.1%

D. 20.4%

36. Kristy Chancellor owns 540 shares of Fiber Queue $100 par value common stock.  The stock pays a dividend of 4%.  What total amount will Kristy receive in dividends?

A. $2,016

B. $5,184

C. $2,160

D. $1,350

37. The mid-day temperatures in your city for 8 days were 78, 85, 82, 90, 98, 87, 82, and 76.  What is the average daily temperature, measured by the mean, if you delete two temperatures, the highest and lowest of this data set before finding the mean?

A. 84

B. 84.75

C. 87.3

D. 63

38. Out of 250 parts sampled, 2 parts failed a quality control test.  How many parts out of 190,000 produced are likely to fail?

A. 760

B. 152

C. 1,520

D. 2,500

39. The medical Care CPI index for 2006 was 264.8 and 278.3 in 2007.  What was the rate of inflation in Medical Care for 2007, to the nearest tenth percent?

A. 5.0%

B. 178.3%

C. 5.1%

D. 13.5%

40. The CPI for the Food category in 1997 was 159.1.  What was the purchasing power of the 1997 Food dollar compared to the base years of 1982-84 food dollar, to the nearest tenth of a cent?

A. $1.591

B. $0.371

C. $0.629

D. $0.591

41. A wireless service provider charges $0.25 for each minute of service, $0.70 a minute for roaming charges, and $0.18 a minute for long distance calls.  What is the charge for a 6-minute, long-distance call within the home coverage area?
A. $1.08

B. $0.18

C. $1.13

D. $2.58

42. A $20.12 hourly rate is increased by a COLA of 2.9%.  What is the new hourly rate?

A. $0.58

B. $20.70

C. $58.35

D. $5.83

43. On Elmer Byrnes’ first $7,000 of earnings, his employer must pay FICA tax of 7.65%, FUTA tax of 6.2%, and SUTA tax of 0.5%.  How much does the employer pay in legally required taxes on Byrnes’ $7,000 of earnings?

A. $535.50

B. $434.00
C. $1,004.50

D. $6,027.00
44. A headhunter agreed to a contingency fee of 25% of wages to recruit employees for the XMS Company.  Two recruited employees were hired by XMS.  The average of their annual wages is $58,500.  What fee amount must XMS pay the headhunter?

A. $29,250.00
B. $14,625.00
C. $7,312.50

D. $2,925.00
45. A 50-workstation license for Valley DB software costs $10,200.  A single copy of the software costs $320.  DB software is needed for 43 workstations.  How much can be saved by buying a 50-workstation license instead of 43 single copies?

A. $13,760

B. $3,560

C. $23,960

D. $8,772

46. A company wants to provide one technical support staff member for every 50 computer users.  The company now has 1,000 computer users.  In the next 3 years the company plans to hire 1,000 additional employees, 80% of whom will use computers.  How many support staff should the company have at the end of 3 years?

A. 20

B. 40

C. 36

D. 68

47. It costs $34.12 a month to lease a computer on a three-year lease.  A hospital leased 20 computers.  What is the annual cost of leasing 20 computers?

A. $8,188.80

B. $2,047.20

C. $409.44

D. $1,229.32

48. Ninety employees share a company’s profit of $325,350.  The share is to be paid in two equal payments.  What amount will each employee receive in the first payment?

A. $3,615.00
B. $361.50

C. $18,075.00
D. $1,807.50

49. Felicia was given a 0.25% attendance bonus and an extra bonus of 8% for developing a patent, both based on her annual pay of $61,500.  What total bonus did she receive?

A. $153.75

B. $4,920.00
C. $1,230.00
D. $5,073.75

50. A USB flash drive stores 246 MB of data.  How many USB flash dives are needed to store 1 GB file?

A. 0.004
B. 40

C. 4

D. 0.25

51. The monthly rent on a 4,000 sq. ft. office is $12,000.  The sales area is 1,400 sq. ft.  Rent is allocated on the basis of space used.  What amount of monthly rent is charged to sales?
A. $350

B. $4,850

C. $4,200

D. $3,600

52. An invoice dated April 13 has terms of 3/12, 1/30, n/60.  What is the invoice’s due date?

A. June 12

B. May 12

C. May 13

D. April 25

53. Stellar Sports has a price line for a bowling ball of $120 with a 35.5% markup on selling price.  What is the most that Stellar can pay for the bowling ball?

A. $74.40

B. $42.60

C. $84.50

D. $77.40
54. A commercial-grade riding lawnmower that costs $10,800 is estimated to depreciate 13% a year.  What is the book value of the mower at the end of the first year?

A. $1,404

B. $9,396

C. $8,619

D. $3,348

55. A hunting cap originally priced at $18.29 was marked down 15% for a preseason sale.  What is the selling price of the cap?

A. $18.14

B. $13.72

C. $15.55

D. $21.03

56. Reba used her van at work for 25% of the 26,112 miles she drove last year.  Her employer reimbursed work mileage at 28¢ a mile.  What reimbursement did Reba receive?
A. $1,958.40

B. $6,528.00
C. $5,483.52

D. $1,827.84

57. The MACRS depreciation rates for 70 year class life equipment are 14.29% the first year and 24.49% the second year.  What total depreciation would there be for the first two years on a copier that costs $34,500 and has a 7-year class life?

A. $13,379.10

B. $21,120.90

C. $26,050.95

D. $8,449.05

58. What is the single discount equivalent to a series discount of 12%, 20% , and 5%?

A. 66.88%

B. 33.12%

C. 32.5%

D. 63%

59. For one package weighing 6 lb., the shipping charge is $11.75 to Zone 3 and $19.25 to Zone 6.  Ten, 6 lb. packages are to be shipped, 8 to Zone 3 and 2 to Zone 6.  Insurance costs are $1.45 a package.  What is the total cost of shipping the packages?

A. $133.95

B. $192.00
C. $147.00
D. $184.25

60. Five percent of the 620 survey returns to a mail survey were not valid.  If 3,400 surveys were mailed, what was the response rate, to the nearest percent?

A. 18%

B. 17%

C. 9%

D. 13%

61. A company’s share of a $390,000,000 market is 1.75%.  What is the company’s share of the market in dollars?

A. $6,630,000
B. $7,800,000

C. $68,250,000

D. $6,825,000

62. A day care center has current assets of $60,100 and current liabilities of $32,100.  What is the center’s current ratio, to the nearest tenth?

A. 1.9
B. 1.3
C. 1.8
D. 0.5
63. What is the area of a building that is 15 m x 30 m?

A. 450 m

B. 90 m2
C. 327 m2
D. 450 m2

64. On Tuesday, you flew west from Chicago to Australia on a 24-hour flight.  You crossed the International Date Line.  What day of the week was it when you landed?

A. Monday

B. Tuesday

C. Wednesday

D. Thursday

65. Lowen’s Books had net sales of $541,290, gross profit of $162,300, and net income of $42,460.  What was Lowen’s net profit margin, to the nearest tenth percent?

A. 7.9%

B. 30%

C. 7.8%

D. 37.8%

66. A product’s beginning inventory on January 1 was $8,400, and its ending inventory on March 31 was $3,600.  The cost of goods sold for the product in the quarter was $14,500.  What was the product’s turnover rate, to the nearest tenth?
A. 3.0

B. 2.4

C. 1.3

D. 1.7

67. A business had a net income for a year of $86,580 and capital of $619,900.  What was its return on equity, to the nearest tenth percent?

A. 6.2%

B. 17.3%

C. 14%

D. 11.4%

68. The exchange rates in U.S. Dollars for Israel’s shekel and Poland’s zloty, are $0.2246 and $0.2980, respectively.  What would a 149 zloty purchase cost in U.S. dollars?

A. $71.04

B. $33.47

C. $44.40

D. $663.40

69. To how many ha is a field that measures 1 400 m by 860 m equal?

A. 120.4 ha

B. 4 520 ha

C. 124.7 m2
D. 12 040 ha

70. The partners, Boyd and Blake, agree to share equally a $145,000 annual net income after Boyd is paid a salary of $12,000 plus 7.2% interest on his $115,000 investment in the business.  What is Boyd’s total share of the net income?

A. $20,280

B. $68,720

C. $78,500

D. $82,640

71. If there are 32 oz. and 0.95 L in a quart, how many liters would there be in a can that holds 48 oz. of paint thinner?

A. 15.2 L

B. 45.6 L

C. 1.425 L

D. 30.4 L

72. Wilbur unloaded 80 bags of potatoes from a delivery truck.  Each bag weighed 22.5 kg.  At 2.2 lb. to the kilogram, what was the total weight in pounds of the unloaded potatoes?

A. 197.6
B. 3,960

C. 1,800

D. 49.5

73. Flora Wolfe was paid $9 an hour for 36 hours of work last week at her full-time job.  She also worked 7 hours last week at a part-time job that pays $11 an hour.  What total gross pay did she earn last week from both jobs?
A. $77
B. $324

C. $401

D. $419

74. Zech Clark is paid a salary of $800 a week to manage a party store.  What amount will he make in one year working at this job?

A. $40,000

B. $41,600

C. $46,000

D. $46,100

75. Phillip Van Horn earned gross wages of $487.12.  Phillip’s deductions were: $49 in federal withholding taxes, 6.2% in social security taxes, 1.45% in Medicare taxes, $28.74 in health insurance, and $12 in union dues.  Fine Philip’s net pay.

A. $360.12

B. $367.18

C. $397.38

D. $434.64

76. A job you are considering offers these benefits:  paid vacations $2,230; paid holidays, $2,450; paid pension, $4,058.60; paid health insurance, $428.90.  What are the total benefits of the job?

A. $9,076.50

B. $9,167.50

C. $9,247.50
D. $9,367.50

77. Stewart Terrace listed these items on his checking account deposit slip:  (bills) 47 ones, 3 fives; (coins) 129 quarters, 74 dimes; one check for $8.  His cash received consisted of 2 twenties and 1 ten.  What total deposit did Stewart make?
A. $59.65

B. $69.65

C. $109.65

D. $159.65

78. The Yearbook Club’s checking account balance was $8,411.13 on Monday.  Three checks from the sale of ads for $200, $110, and $65 were deposited.  A check was written on Thursday for $650 for graphics design.  What is the new balance of the checking account?

A. $7,365.13

B. $8,136.13

C. $8,686.13

D. $9,436.13

79. Cora Freeman borrowed $1,500 for 18 months from her bank.  Cora signed a promissory note that carried 15% interest.  Find the amount of interest Cora must pay on the due date of the note.

A. $125.00

B. $225.00

C. $337.50

D. $405.00

80. Ted Nash must pay $1,600 in interest on a promissory note for $40,000 due 4 months from the date of the note.  Find the rate of interest he will pay.

A. 4%

B. 12%

C. 16%

D. 40%

81. High-density computer diskettes, regularly priced at $3.99 a box, are on sale, 3 boxes for $5.99.  How much would you save by buying 12 boxes at the sale price?
A. $22.96

B. $23.92

C. $23.96

D. $47.88

82. Find the total cost of a $148.99 chain saw purchased in a state with 4.25% sales tax and a city with 1.5% sales tax.

A. $8.56

B. $151.22

C. $155.32

D. $157.55
83. The home that Hilda Bunker wants to buy sells for $213,000.  She plans to make a 5% down payment and borrow the balance at 7.67% for 25 years.  Her monthly mortgage payments will be $1,517.80.  What total interest will Hilda pay over 25 years?
A. $10,650

B. $202,350

C. $252,990

D. $455,340

84. Elton Hummer estimates that the cost of taxes, insurance, and maintenance on a home he bought is $4,980 a year.  His other yearly costs would be $12,760 in mortgage loan interest and $2,050 in estimated depreciation.  For a year, he would lose $1,030 interest on his down payment and save $2,400 on his income taxes.  Elton could have rented a similar home for $1,400 a month and had annual expenses of $302 for insurance and $2,760 for utilities.  The security deposit on the rented home would have been $500.  For the first year, which would have been less expensive, buying or renting a home; and for how much less? 

A. renting, $1,442 less

B. renting, $1,942 less

C. buying, $1,442 less

D. buying, $1,942 less

85. Pamela Hopkins has a life insurance policy for $15,000.  She pays a premium rate of $23.48 per $1,000 annually.  This year the insurance company paid a dividend of $33.60.  What is Pamela’s premium for the year after deducting the dividend?

A. $318.60

B. $352.20

C. $385.80

D. $480.52

86. Tia’s major medical policy has a $1,000 deductible feature and a 15% coinsurance feature.  Last month she spent $10,300 for medical expenses, $700 of which were not covered under her policy.  How much did Tia pay?

A. $1,700

B. $2,395

C. $2,990

D. $3,245

87. For 6 days this week, the number of defective golf clubs produced by a production line were 210, 225, 206, 214, 180, 225.  Find the mean number of defects per day.
A. 210

B. 212

C. 214

D. 216

88. During a recession, the unemployment rate was 34.7% for teen workers and 8.7% for male workers.  Out of every 1,000 workers in each category, how many more teens were unemployed than males?

A. 87

B. 260

C. 347

D. 434

89. Trixie Inc. leased 15 desktop computer systems for 3 years.  The monthly lease for each was $48.99.  What was the total cost of leasing all the notebooks for three years?
A. $1,763.64

B. $2,645.46

C. $22,045.50

D. $26,454.60

90. A public library removes 12.7 GB of data from its network hard drives to 250 MB Zip disks at $7.99 each.  How many disks did they need and what was the total cost?

A. 51 disks, $407.49

B. 50.8 disks, $405.89

C. 6 disks, $47.04

D. 50 disks, $399.50

91. The board game Skribin has daily sales of 12 units.  It takes 28 days to receive a new shipment.  The company’s safety stock is two day supply.  What is the reorder point for the game?

A. 40

B. 113

C. 336

D. 360

92. Five percent of a company’s profits of $472,000 are to be shared with 4 supervisors.  Thirty percent of the profits are to be shared with 48 hourly employees.  What profit sharing amount did the supervisors and hourly employees share?

A. $23,600

B. $141,600

C. $165,200

D. $236,000

93. A factory had these costs for the products produced in one year:  raw materials, $1,468,190; direct labor, $2,365,100; factory overhead, $539,850.  What was the prime cost of the goods produced?
A. $1,436,760
B. $3,293,440

C. $3,833,290

D. $4,373,140

94. Four departments of a company used this floor space:  Dept. A, 12,000 square feet; Dept. B, 5,600 square feet ; Dept. C, 10,000 square feet; Dept. D, 4,400 square feet.  The yearly maintenance cost of the building, $36,000, is distributed based on the floor space.  How much of the annual maintenance cost is Depart. B charged?
A. $4,950

B. $6,300

C. $11,250

D. $13,500

95. What is the invoice price for the purchase of a tractor with a list price of $18,560 and terms of 10%, 15%, and 4%?
A. $14,177.60

B. $13,630.46

C. $14,198.40

D. $16,704.00

96. An advertiser bought space for 12 ads at a list price of $680 per ad, less a 7% discount.  What was the cost of the ads?

A. $571.20

B. $7,588.80

C. $8160.00

D. $8,731.20

97. A discount store took three inventories of merchandise during a quarter:  $176,000, $178,820, and $246,600.  The cost of merchandise sold during the 3-month period was $1,360,200.  What was the merchandise turnover rate, to the nearest tenth?

A. 1.4

B. 6.7

C. 6.8

D. 14.7

98. Miskai invest $425,000 and Donald $260,000 in a partnership.  Net income is divided in proportion to their investment.  Their net loss for the first year is $38,600.  What is Donald’s share of net loss?

A. $14,651.09

B. $19,300.00

C. $23,948.90

D. $33,951.09

99. In a recent year, a country had a Gross Domestic Product of $4,200,000,000 and a population of 1,200,000.  What was its per capita GDP?

A. $350

B. $2,857

C. $3,500

D. $28,571

100. Thailand’s currency, the baht (B), has a value in U.S. dollars of $0.02438.  Also, there are 41.014 B per U.S. Dollar.  To what amount in U.S. dollars are 60,000 B equal?

A. $35.67

B. $41.04

C. $1,462.80

D. $1,462.91
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